# BASE BID

# Compleate Construction

### A. Jullian RR Const

Item No.	Item Description	Total Quantity	Unit		Unit Price (\$)	Extended Total (\$)	Unit Price (\$)	Extended Total (\$)
ITEM 1	CONSTRUCTING WATER MAINS:							
1a	8-inch CLDI Water Main and Associated Fittings	8,700	LF	\$	67.75	\$ 589,425	\$ 75.00	\$ 652,500.00
1b	2-inch Thick Rigid Board Insulation	350	LF	\$	18.00	\$ 6,300	\$ 10.00	\$ 3,500.00
ITEM 2	GATE VALVES:							
2	8-inch Gate Valves and Valve Boxes	10	EA	\$	1,625.00	\$ 16,250	\$ 2,000.00	\$ 20,000.00
ITEM 3	TEES:							
3	8-inch x 8-inch x 8-inch Tees	2	EA	\$	1,400.00	\$ 2,800	\$ 1,000.00	\$ 2,000.00
ITEM 4	6-INCH LATERAL CONNECTIONS AND ASSO FOR FUTURE FIRE HYDRANTS:	CIATED F	ITTINGS					
4	6-inch Lateral Connections and Associated Fitting Future Fire Hydrants, per Lateral	ç 15	EA	\$	2,500.00	\$ 37,500	\$ 2,000.00	\$ 30,000.00
ITEM 5	2-INCH AIR VENT FOR WATER MAIN:							
5	2-inch Air Vent for Water Main	5	EA	\$	2,700.00	\$ 13,500	\$ 2,000.00	\$ 10,000.00
ITEM 6	2-INCH WATER MAIN BLOWOFF:							
6	2-inch Water Main Blowoff	2	EA	\$	2,950.00	\$ 5,900	\$ 2,000.00	\$ 4,000.00
ITEM 7	CONNECTIONS TO EXISTING:							
7	Connection to Existing 8-inch Water main at the North Street and Stonecrest Road	I 1	LS	\$	3,900.00	\$ 3,900	\$ 4,500.00	\$ 4,500.00
ITEM 8	MISCELLANEOUS EARTH EXCAVATION:							
8a	Earth Excavation and Backfill for Test Pits	150	CY	\$	20.00	\$ 3,000	\$ 20.00	\$ 3,000.00

# BASE BID

# Compleate Construction

#### A. Jullian RR Const

Item No.	Item Description	Total Quantity	Unit		Unit Price (\$)	Extended Total (\$)		Unit Price (\$)	Extended Total (\$)
8b	Excavating Below Normal Depth	100	CY		\$ 5.00	\$ 500	\$	10.00	\$ 1,000.00
ITEM 9	CHANGE IN QUANTITY OF EARTH EXCAVATI DUE TO WATER MAIN DEPTH CHANGES:	ON AND	BACKFILL	- -					
9a	Between 0 - 12 Feet Deep	50	CY		\$ 5.00	\$ 250	\$	10.00	\$ 500.00
ITEM 10	ROCK EXCAVATION AND DISPOSAL:								
10	Rock Excavation and Disposal	200	CY		\$ 150.00	\$ 30,000	\$	40.00	\$ 8,000.00
ITEM 11	BANK-RUN GRAVEL:								
11	Bank-Run Gravel	400	CY		\$ 10.00	\$ 4,000	\$	10.00	\$ 4,000.00
ITEM 12	ADDITIONAL SCREENED GRAVEL:								
12	Additional Screened Gravel	100	CY		\$ 10.00	\$ 1,000	\$	30.00	\$ 3,000.00
ITEM 13	ADDITIONAL 1,500 PSI CONCRETE:								
13	Additional 1,500 PSI Concrete	50	CY		\$ 130.00	\$ 6,500	\$	150.00	\$ 7,500.00
ITEM 14	SHEETING LEFT IN PLACE:								
14	Sheeting Left in Place	2,000	SF		\$ 1.00	\$ 2,000	\$	3.00	\$ 6,000.00
ITEM 15	PAVEMENT:								
15a	Rolled Process Stone Base Course	2,200	CY		\$ 14.00	\$ 30,800	\$	40.00	\$ 88,000.00
15b	Temporary Pavement	8,600	SY		\$ 16.00	\$ 137,600	\$	15.00	\$ 129,000.00
15c	1-1/2-inch Bit. Conc. Binder Course Permanent P	9,800	SY		\$ 14.00	\$ 137,200	\$	11.00	\$ 107,800.00
15d	1-1/2-inch Bit. Conc. Top Course Permanent Pav	12,000	SY		\$ 8.00	\$ 96,000	\$	12.00	\$ 144,000.00

### BASE BID

#### Compleate Construction

#### A. Jullian RR Const

Extended Total (\$)

24,000.00

800.00

4,000.00

5,000.00

300.00

10,000.00

2,000.00

5,000.00

70,000.00

1,349,400.00

ltem No.	Item Description	Total Quantity	Unit		Unit Price (\$)	Extended Total (\$)	Unit Price (\$)	
15e	Cold Milling Bituminous Pavement	12,000	SY	\$	7.00	\$ 84,000	\$ 2.00	\$
15f	Bituminous Concrete Curbing	200	LF	\$	9.00	\$ 1,800	\$ 4.00	\$
15g	Bituminous Concrete Driveways	100	SY	\$	35.00	\$ 3,500	\$ 40.00	\$
ITEM 16	REPLACEMENT OF CONCRETE SIDEWALKS	AND DRIV	EWAYS:					
16	Replacement of Concrete Sidewalks and Drivewa	50	SY	 \$	96.00	\$ 4,800	\$ 100.00	\$
ITEM 17	CALCIUM CHLORIDE FOR DUST CONTROL:							
17	Calcium Chloride for Dust Control	1,000	LB	\$	1.00	\$ 1,000	\$ 0.30	\$
ITEM 18	LUMP SUM ALLOWANCE FOR REPLACEMEN	T OF TRE	ES:					
18	Lump Sum Allowance for Replacement of Trees	1	LS	 \$	10,000.00	\$ 10,000	\$ 10,000.00	\$
ITEM 19	CONCRETE ENCASEMENT FOR WATER MAIN	l:						
19	Concrete Encasement for Water Main	50	LF	\$	150.00	\$ 7,500	\$ 40.00	\$
ITEM 20	ADDITIONAL WORK IN EASEMENTS, RIGHTS UNIMPROVED AREAS	-OF-WAY	AND					
20	Additional Work in Easements, Rights-of-Way an	1	LS	 \$	30,000.00	\$ 30,000	\$ 5,000.00	\$
ITEM 21	WORK IN THE WATER SERVICE BUILDING:							
21	Work in the Water Service Building	1	LS	 \$	32,000.00	\$ 32,000	\$ 70,000.00	\$
	TOTAL ITEMS 1 T	HROUGH	H 21 =			\$ 1,299,025		\$

# BASE BID

### Compleate Construction

#### A. Jullian RR Const

Item	Item Description			Unit	Extended	
		Total		Price	Total	
No.		Quantity	Unit	(\$)	(\$)	

Unit	Extended
Price	Total
(\$)	(\$)

# **BID ALTERNATE NO. 1**

Item No.	Item Description	Total Quantity	Unit	Deduct Unit Price (\$)	Extended Total (\$)		Deduct Unit Price (\$)	Extended Total (\$)
ITEM BA-1	CONSTRUCTING WATER MAINS:							
BA-1a	Deduct Materials costs for 8-inch CLDI Water Ma	8,700	LF	\$ 24.80	\$ 215,760	\$	23.00	\$ 200,100.00
BA-1b	Deduct Materials Costs for 2-inch Thick Rigid Boa	350	LF	\$ 5.00	\$ 1,750	\$	1.50	\$ 525.00
ITEM BA-2	GATE VALVES:							
BA-2	Deduct Materials Costs for 8-inch Gate Valves an	10	EA	\$ 930.00	\$ 9,300	\$	1,000.00	\$ 10,000.00
ITEM BA-3	TEES:							
BA-3	Deduct Materials Costs for 8-inch x 8-inch x 8-inc	2	EA	\$ 530.00	\$ 1,060	\$	300.00	\$ 600.00
ITEM BA-4	6-INCH LATERAL CONNECTIONS AND ASSOC FOR FUTURE FIRE HYDRANTS:	CIATED F	ITTINGS					
BA-4	Deduct Materials Costs for 6-inch Lateral Connec Fittings for Future Fire Hydrants, per Lateral	15	EA	\$ 1,125.00	\$ 16,875	\$	1,150.00	\$ 17,250.00
ITEM BA-5	2-INCH AIR VENT FOR WATER MAIN:							
BA-5	Deduct Materials Costs for 2-inch Air Vent for Wa	5	EA	\$ 1,050.00	\$ 5,250	\$	1,200.00	\$ 6,000.00
ITEM BA-6	2-INCH WATER MAIN BLOWOFF:							
BA-6	Deduct Materials Costs for 2-inch Water Main Blo	2	EA	\$ 1,275.00	\$ 2,550	\$	1,100.00	\$ 2,200.00
ITEM BA-21	WORK IN THE WATER SERVICE BUILDING:							

# BASE BID

### Compleate Construction

#### A. Jullian RR Const

Item No.	Item Description	Total Quantity	Unit		Unit Price (\$)	Extended Total (\$)
BA-21	Deduct Materials Costs for Work in the Water Se	1	LS	\$	16,720.00	\$ 16,720
	TOTAL ITEMS BA-1 THROUGH BA-6	S AND B	A-21 =			\$ 269,265

Unit Price (\$)	Extended Total (\$)
\$ 35,000.00	\$ 35,000.00
	\$ 271,675

#### TOWN OF RIDGEFIELD, North Street Water Main - B BID OPENING - TUESDAY, JUNE 3, 2008 J

# BASE BID

#### Mark IV Const

Item No.	Item Description	Total Quantity			Unit Price (\$)	Extended Total (\$)		Unit Price (\$)	Extended Total (\$)
ITEM 1	CONSTRUCTING WATER MAINS:								
1a	8-inch CLDI Water Main and Associated Fittings	8,700	LF	\$	80.00	\$	696,000	\$ 115.00	\$ 1,000,500
1b	2-inch Thick Rigid Board Insulation	350	LF	\$	5.00	\$	1,750	\$ 2.00	\$ 700
ITEM 2	GATE VALVES:								
2	8-inch Gate Valves and Valve Boxes	10	EA	\$	2,500.00	\$	25,000	\$ 1,000.00	\$ 10,000
ITEM 3	TEES:								
3	8-inch x 8-inch x 8-inch Tees	2	EA	\$	1,500.00	\$	3,000	\$ 500.00	\$ 1,000
ITEM 4	6-INCH LATERAL CONNECTIONS AND ASSO FOR FUTURE FIRE HYDRANTS:	CIATED FI	TTINGS						
4	6-inch Lateral Connections and Associated Fitting Future Fire Hydrants, per Lateral	15	EA	\$	2,000.00	\$	30,000	\$ 1,200.00	\$ 18,000
ITEM 5	2-INCH AIR VENT FOR WATER MAIN:								
5	2-inch Air Vent for Water Main	5	EA	\$	2,000.00	\$	10,000	\$ 2,000.00	\$ 10,000
ITEM 6	2-INCH WATER MAIN BLOWOFF:								
6	2-inch Water Main Blowoff	2	EA	\$	1,800.00	\$	3,600	\$ 1,600.00	\$ 3,200
ITEM 7	CONNECTIONS TO EXISTING:								
7	Connection to Existing 8-inch Water main at the I North Street and Stonecrest Road	1	LS	\$	5,000.00	\$	5,000	\$ 2,500.00	\$ 2,500
ITEM 8	MISCELLANEOUS EARTH EXCAVATION:								
8a	Earth Excavation and Backfill for Test Pits	150	CY	\$	15.00	\$	2,250	\$ 5.00	\$ 750

#### TOWN OF RIDGEFIELD, North Street Water Main - B BID OPENING - TUESDAY, JUNE 3, 2008 /

# <u>BASE BID</u>

#### Mark IV Const

ltem No.	Item Description	Total Quantity	Unit	Unit Price (\$)	E	Extended Total (\$)	Unit Price (\$)	Extended Total (\$)
8b	Excavating Below Normal Depth	100	CY	\$ 1.00	\$	100	\$ 0.01	\$ 1
ITEM 9	CHANGE IN QUANTITY OF EARTH EXCAVATI DUE TO WATER MAIN DEPTH CHANGES:	ON AND I	BACKFILL					
9a	Between 0 - 12 Feet Deep	50	CY	\$ 1.00	\$	50	\$ 2.00	\$ 100
ITEM 10	ROCK EXCAVATION AND DISPOSAL:							
10	Rock Excavation and Disposal	200	CY	\$ 75.00	\$	15,000	\$ 80.00	\$ 16,000
ITEM 11	BANK-RUN GRAVEL:							
11	Bank-Run Gravel	400	CY	\$ 1.00	\$	400	\$ 0.01	\$ 4
ITEM 12	ADDITIONAL SCREENED GRAVEL:							
12	Additional Screened Gravel	100	CY	\$ 1.00	\$	100	\$ 25.00	\$ 2,500
ITEM 13	ADDITIONAL 1,500 PSI CONCRETE:							
13	Additional 1,500 PSI Concrete	50	CY	\$ 1.00	\$	50	\$ 150.00	\$ 7,500
ITEM 14	SHEETING LEFT IN PLACE:							
14	Sheeting Left in Place	2,000	SF	\$ 0.01	\$	20	\$ 3.00	\$ 6,000
ITEM 15	PAVEMENT:							
15a	Rolled Process Stone Base Course	2,200	CY	\$ 25.00	\$	55,000	\$ 20.00	\$ 44,000
15b	Temporary Pavement	8,600	SY	\$ 15.00	\$	129,000	\$ 15.00	\$ 129,000
15c	1-1/2-inch Bit. Conc. Binder Course Permanent P	9,800	SY	\$ 12.00	\$	117,600	\$ 12.00	\$ 117,600
15d	1-1/2-inch Bit. Conc. Top Course Permanent Pav	12,000	SY	\$ 9.95	\$	119,400	\$ 9.50	\$ 114,000

#### TOWN OF RIDGEFIELD, North Street Water Main - B BID OPENING - TUESDAY, JUNE 3, 2008 /

# <u>BASE BID</u>

#### Mark IV Const

Item No.	Item Description	Total Quantity	Unit	Unit Price (\$)	E	Extended Total (\$)	Unit Price (\$)	Extended Total (\$)
15e	Cold Milling Bituminous Pavement	12,000	SY	\$ 3.00	\$	36,000	\$ 2.50	\$ 30,000
15f	Bituminous Concrete Curbing	200	LF	\$ 10.00	\$	2,000	\$ 4.00	\$ 800
15g	Bituminous Concrete Driveways	100	SY	\$ 45.00	\$	4,500	\$ 20.00	\$ 2,000
ITEM 16	REPLACEMENT OF CONCRETE SIDEWALKS	AND DRIV	EWAYS:					
16	Replacement of Concrete Sidewalks and Drivewa	50	SY	\$ 95.00	\$	4,750	\$ 80.00	\$ 4,000
ITEM 17	CALCIUM CHLORIDE FOR DUST CONTROL:							
17	Calcium Chloride for Dust Control	1,000	LB	\$ 0.50	\$	500	\$ 0.50	\$ 500
ITEM 18	LUMP SUM ALLOWANCE FOR REPLACEMEN	T OF TRE	ES:					
18	Lump Sum Allowance for Replacement of Trees	1	LS	\$ 10,000.00	\$	10,000	\$ 10,000.00	\$ 10,000
ITEM 19	CONCRETE ENCASEMENT FOR WATER MAI	V:						
19	Concrete Encasement for Water Main	50	LF	\$ 60.00	\$	3,000	\$ 48.00	\$ 2,400
ITEM 20	ADDITIONAL WORK IN EASEMENTS, RIGHTS UNIMPROVED AREAS	OF-WAY	AND					
20	Additional Work in Easements, Rights-of-Way an	1	LS	\$ 25,000.00	\$	25,000	\$ 5,000.00	\$ 5,000
ITEM 21	WORK IN THE WATER SERVICE BUILDING:							
21	Work in the Water Service Building	1	LS	\$ 100,000.00	\$	100,000	\$ 41,800.00	\$ 41,800
	TOTAL ITEMS 1 T	HROUGH	<del> </del> 21 =		\$	1,399,070		\$ 1,579,855

#### TOWN OF RIDGEFIELD, North Street Water Main - B BID OPENING - TUESDAY, JUNE 3, 2008 J

# BASE BID Mark IV Const M. Rondano

ltem	Item Description			Unit	Extended	Unit	Extended
		Total		Price	Total	Price	Total
No.		Quantity	Unit	(\$)	(\$)	(\$)	(\$)

# BID ALTERNATE NO. 1

ltem	Item Description	Total		Deduct Unit Price		E	Extended Total		Deduct Unit Price		Extended Total
No.		Quantity	Unit		(\$)		(\$)	-	(\$)		(\$)
ITEM BA-1	CONSTRUCTING WATER MAINS:							-			
BA-1a	Deduct Materials costs for 8-inch CLDI Water Ma	8,700	LF	\$	21.50	\$	187,050	-	\$ 21.33	\$	185,571
BA-1b	Deduct Materials Costs for 2-inch Thick Rigid Boa	350	LF	\$	1.60	\$	560	•	\$ 2.00	\$	700
ITEM BA-2	GATE VALVES:							-			
BA-2	Deduct Materials Costs for 8-inch Gate Valves an	10	EA	\$	1,565.00	\$	15,650	-	\$ 676.00	\$	6,760
ITEM BA-3	TEES:										
BA-3	Deduct Materials Costs for 8-inch x 8-inch x 8-inc	2	EA	\$	628.00	\$	1,256	-	\$ 150.00	\$	300
ITEM BA-4	6-INCH LATERAL CONNECTIONS AND ASSO FOR FUTURE FIRE HYDRANTS:	CIATED FI	TTINGS					-			
BA-4	Deduct Materials Costs for 6-inch Lateral Connec Fittings for Future Fire Hydrants, per Lateral	15	EA	\$	985.00	\$	14,775		\$ 300.00	\$	4,500
ITEM BA-5	2-INCH AIR VENT FOR WATER MAIN:										
BA-5	Deduct Materials Costs for 2-inch Air Vent for Wa	5	EA	\$	1,080.00	\$	5,400	-	\$ 1,000.00	\$	5,000
ITEM BA-6	2-INCH WATER MAIN BLOWOFF:										
BA-6	Deduct Materials Costs for 2-inch Water Main Blo	2	EA	\$	835.00	\$	1,670	-	\$ 1,000.00	\$	2,000
ITEM BA-21	WORK IN THE WATER SERVICE BUILDING:							ŀ			

#### TOWN OF RIDGEFIELD, North Street Water Main - B BID OPENING - TUESDAY, JUNE 3, 2008

# <u>BASE BID</u>

#### Mark IV Const

Item No.	Item Description	Total Quantity	Unit	Unit Price (\$)	Price Total		Unit Price (\$)	Extended Total (\$)
BA-21	Deduct Materials Costs for Work in the Water S	ei 1	LS	\$ 30,000.00	\$ 30,000	\$	6 16,268.00	\$ 16,268
	TOTAL ITEMS BA-1 THROUGH BA-	6 AND B	A-21 =		\$ 256,361			\$ 221,099

BID OPENING - TUESDAY, JUNE 3, 2008

# <u>BASE BID</u>

#### J. lapaluccio

#### Earthworks

ltem No.	Item Description	Total Quantity	Unit	Unit Price (\$)	Extended Total (\$)		Unit Price (\$)	Extended Total (\$)
ITEM 1	CONSTRUCTING WATER MAINS:							
1a	8-inch CLDI Water Main and Associated Fittings	8,700	LF	\$ 110.00	\$ 957,000.00	\$	5 117.86	\$ 1,025,382.00
1b	2-inch Thick Rigid Board Insulation	350	LF	\$ 6.00	\$ 2,100.00	\$	6.00	\$ 2,100.00
ITEM 2	GATE VALVES:					F		
2	8-inch Gate Valves and Valve Boxes	10	EA	\$ 1,700.00	\$ 17,000.00	\$	1,156.00	\$ 11,560.00
ITEM 3	TEES:							
3	8-inch x 8-inch x 8-inch Tees	2	EA	\$ 1,400.00	\$ 2,800.00	\$	5 776.00	\$ 1,552.00
ITEM 4	6-INCH LATERAL CONNECTIONS AND ASSO FOR FUTURE FIRE HYDRANTS:	CIATED FI	TTINGS					
4	6-inch Lateral Connections and Associated Fitting Future Fire Hydrants, per Lateral	15	EA	\$ 2,500.00	\$ 37,500.00	\$	2,818.00	\$ 42,270.00
ITEM 5	2-INCH AIR VENT FOR WATER MAIN:					F		
5	2-inch Air Vent for Water Main	5	EA	\$ 1,800.00	\$ 9,000.00	\$	1,792.00	\$ 8,960.00
ITEM 6	2-INCH WATER MAIN BLOWOFF:							
6	2-inch Water Main Blowoff	2	EA	\$ 1,800.00	\$ 3,600.00	\$	5 1,400.00	\$ 2,800.00
ITEM 7	CONNECTIONS TO EXISTING:							
7	Connection to Existing 8-inch Water main at the I North Street and Stonecrest Road	1	LS	\$ 5,000.00	\$ 5,000.00	\$	552.00	\$ 552.00
ITEM 8	MISCELLANEOUS EARTH EXCAVATION:					F		
8a	Earth Excavation and Backfill for Test Pits	150	CY	\$ 50.00	\$ 7,500.00	\$	5 130.00	\$ 19,500.00

BID OPENING - TUESDAY, JUNE 3, 2008

# <u>BASE BID</u>

#### J. lapaluccio

#### Earthworks

ltem No.	Item Description	Total Quantity	Unit		Unit Price (\$)	Extended Total (\$)			Unit Price (\$)		Extended Total (\$)
8b	Excavating Below Normal Depth	100	CY	\$	1.00	\$ 100.00		\$	25.00	\$	2,500.00
ITEM 9	CHANGE IN QUANTITY OF EARTH EXCAVATI DUE TO WATER MAIN DEPTH CHANGES:	ON AND E	BACKFIL				-				
9a	Between 0 - 12 Feet Deep	50	CY	\$	1.00	\$ 50.00		\$	70.00	\$	3,500.00
ITEM 10	ROCK EXCAVATION AND DISPOSAL:										
10	Rock Excavation and Disposal	200	CY	\$	1.00	\$ 200.00		\$	100.00	\$	20,000.00
ITEM 11	BANK-RUN GRAVEL:										
11	Bank-Run Gravel	400	CY	\$	30.00	\$ 12,000.00	-	\$	47.60	\$	19,040.00
ITEM 12	ADDITIONAL SCREENED GRAVEL:			_							
12	Additional Screened Gravel	100	CY	\$	30.00	\$ 3,000.00		\$	42.00	\$	4,200.00
ITEM 13	ADDITIONAL 1,500 PSI CONCRETE:										
13	Additional 1,500 PSI Concrete	50	CY	\$	90.00	\$ 4,500.00		\$	200.00	\$	10,000.00
ITEM 14	SHEETING LEFT IN PLACE:										
14	Sheeting Left in Place	2,000	SF	\$	3.00	\$ 6,000.00	-	\$	7.00	\$	14,000.00
ITEM 15	PAVEMENT:										
15a	Rolled Process Stone Base Course	2,200	CY	\$	30.00	\$ 66,000.00		\$	43.25	\$	95,150.00
15b	Temporary Pavement	8,600	SY	\$	13.00	\$ 111,800.00	ŀ	\$	11.50	\$	98,900.00
15c	1-1/2-inch Bit. Conc. Binder Course Permanent P	9,800	SY	\$	13.00	\$ 127,400.00	╞	\$	9.00	\$	88,200.00
15d	1-1/2-inch Bit. Conc. Top Course Permanent Pav	12,000	SY	\$	10.00	\$ 120,000.00	ŀ	\$	9.00	\$	108,000.00

BID OPENING - TUESDAY, JUNE 3, 2008

# <u>BASE BID</u>

#### J. lapaluccio

#### Earthworks

ltem No.	Item Description	Total Quantity	Unit	Unit Price (\$)		Extended Total (\$)	Unit Price (\$)	Extended Total (\$)
15e	Cold Milling Bituminous Pavement	12,000	SY	\$	4.00	\$ 48,000.00	\$ 6.50	\$ 78,000.00
15f	Bituminous Concrete Curbing	200	LF	\$	7.00	\$ 1,400.00	\$ 3.00	\$ 600.00
15g	Bituminous Concrete Driveways	100	SY	\$	38.00	\$ 3,800.00	\$ 13.00	\$ 1,300.00
ITEM 16	REPLACEMENT OF CONCRETE SIDEWALKS	AND DRI	/EWAYS:					
16	Replacement of Concrete Sidewalks and Drivewa	50	SY	\$	130.00	\$ 6,500.00	\$ 45.00	\$ 2,250.00
ITEM 17	CALCIUM CHLORIDE FOR DUST CONTROL:							
17	Calcium Chloride for Dust Control	1,000	LB	\$	0.50	\$ 500.00	\$ 0.80	\$ 800.00
ITEM 18	LUMP SUM ALLOWANCE FOR REPLACEMEN	T OF TRE	ES:					
18	Lump Sum Allowance for Replacement of Trees	1	LS	\$	10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00
ITEM 19	CONCRETE ENCASEMENT FOR WATER MAIN	l:						
19	Concrete Encasement for Water Main	50	LF	\$	600.00	\$ 30,000.00	\$ 185.00	\$ 9,250.00
ITEM 20	ADDITIONAL WORK IN EASEMENTS, RIGHTS UNIMPROVED AREAS	-OF-WAY	AND					
20	Additional Work in Easements, Rights-of-Way an	1	LS	\$	60,000.00	\$ 60,000.00	\$ 7,000.00	\$ 7,000.00
ITEM 21	WORK IN THE WATER SERVICE BUILDING:							
21	Work in the Water Service Building	1	LS	\$	68,250.00	\$ 68,250.00	\$ 74,175.00	\$ 74,175.00
	TOTAL ITEMS 1 T	HROUG	H 21 =			\$ 1,721,000.00		\$ 1,761,541.00

BID OPENING - TUESDAY, JUNE 3, 2008

# BASE BID

#### J. lapaluccio

Earthworks

#### Item Description Extended Unit Extended Unit Item Total Price Price Total Total No. (\$) (\$) Quantity Unit (\$) (\$)

# **BID ALTERNATE NO. 1**

ltem No.	Item Description	Total Quantity	Unit	Deduct nit Price (\$)	Extended Total (\$)		Deduct Unit Price (\$)		Extended Total (\$)
ITEM BA-1	CONSTRUCTING WATER MAINS:								
BA-1a	Deduct Materials costs for 8-inch CLDI Water Ma	8,700	LF	\$ 22.00	\$	191,400.00	\$ 23.06	\$	200,622.00
BA-1b	Deduct Materials Costs for 2-inch Thick Rigid Boa	350	LF	\$ 3.40	\$	1,190.00	\$ 5.50	\$	1,925.00
ITEM BA-2	GATE VALVES:								
BA-2	Deduct Materials Costs for 8-inch Gate Valves an	10	EA	\$ 820.00	\$	8,200.00	\$ 957.00	\$	9,570.00
ITEM BA-3	TEES:								
BA-3	Deduct Materials Costs for 8-inch x 8-inch x 8-inc	2	EA	\$ 270.00	\$	540.00	\$ 627.00	\$	1,254.00
ITEM BA-4	6-INCH LATERAL CONNECTIONS AND ASSO FOR FUTURE FIRE HYDRANTS:	CIATED F	ITTINGS						
BA-4	Deduct Materials Costs for 6-inch Lateral Connec Fittings for Future Fire Hydrants, per Lateral	15	EA	\$ 1,160.00	\$	17,400.00	\$ 1,320.00	\$	19,800.00
ITEM BA-5	2-INCH AIR VENT FOR WATER MAIN:								
BA-5	Deduct Materials Costs for 2-inch Air Vent for Wa	5	EA	\$ 790.00	\$	3,950.00	\$ 1,175.00	\$	5,875.00
ITEM BA-6	2-INCH WATER MAIN BLOWOFF:								
BA-6	Deduct Materials Costs for 2-inch Water Main Blo	2	EA	\$ 830.00	\$	1,660.00	\$ 1,021.00	\$	2,042.00
ITEM BA-21	WORK IN THE WATER SERVICE BUILDING:								

BID OPENING - TUESDAY, JUNE 3, 2008

# BASE BID

#### J. lapaluccio

#### Earthworks

ltem No.	Item Description	Total Quantity	Unit	Unit Price (\$)	Extended Total (\$)		Unit Price (\$)	Extended Total (\$)
BA-21	Deduct Materials Costs for Work in the Water Se	1	LS	\$ 14,000.00	\$ 14,000.00	\$	34,500.00	\$ 34,500.00
	TOTAL ITEMS BA-1 THROUGH BA-6	S AND BA	A-21 =		\$ 238,340.00			\$ 275,588.00